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5hEil—TH 105-1 = EfT 597-30
5kil—TH 105-2 = EfT 376-8
g2kilt—TH 105-3 = HT 597-31
a2kilt—TH 105-4 = HT 597-32
akilt—TH 105-5 = FEHT 597-33
ekidk—TH 105-6 [=4xt) 597-34
akidt—TH 105-7 = AT 607-1
akidt—TH 105-8 = L HT 601-18
akidt—TH 105-9 = FHT 601-19
akidt—TH 105-10 = FEHT 601-5
akidt—TH 105-11 = L HT 233-23
akidt—TH 105-12 = FEHT 601-6
akidt—TH 105-13 = FEHT 601-2
akidt—TH 105-14 = EHT 602-1
akidk—TH 105-15 [=4si) 595-2
5kil—TH 105-15 = T 595-38
5kil—TH 105-16 = T 596-3
a2kidt—TH 105-17 = EHT 569-8
a2kilt—TH 105-18 = EHT 595-22
a2rilt—TH 105-19 = EHT 571-1
aRilt—TH 105-20 = EHT 571-8
a2kit—TH 105-21 = EHT 571-9
ahki—TH 105-22 = EHT 717-5
akit—TH 105-23 = 5T 599-8




